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1. Fill in the blanks: 1x7=7
AT 3 ~f3et 3
(@) is an application software for

creating and managing databases.

A 9 i software R ©HIER ‘
" create % (VST |

(b) Record is also called as a
Record ¥ e @rt =

Contd.



(c) .The

identifies individual tuples
uniquely.
«Q 9j9F tuple AR GTFFOIR G
A
(d) NF is based on full functional
dependency. '
NF ¥ (sf6 ¥ full functional
dependency.
(e) integrity constraint states that

primary key value cannot be NULL.

25 IR AT SR TU TR
T SF R/ @RI

() The definition of a table can be changed
by using command. ,

@ (BFeT T e PRI o
I/ | W

(g9 BCNF stands for .
BCNF & afffag 3|

(h) A schema is a high level
description of the whole database.

. R T (MR (CHIRBT T 2
ool
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0)

clause of SQL specifies alternate
keys.

SQL3J
A

9% alternate key Rfve

Degree of a relation means the number
of in a relation.

g3 Reems R Wi = Reeiwdas 4=
3 WY | .

2. Define the following terms : (any four)

2x4=8

wee AR et fat 3 (Reient 5151

(@)
(b)
(c)
(d)
(e)
1]

- (9
1]

Entity and attribute
Candidate key

DML

Normalization

Data independence

Entity relationship diagram

Derived attribute
Relationship
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‘3. Answer any three of the following
questions : - 5%x3=15

woTs il Rt bt e TeT fr ¢

(a) Briefly explain the charactenstlcs of
DBMS.

DBMS?W’F{@WW ﬁim

(b) Give the steps to convert an ER diagram
into relational schemes with example.

ER 3 *N¥i relationé.l schema (& #fRa$
TR T IS DA ot

(© Explain foreign key and referéntial
integrity constraint.

Foreign key < referentiél integrity'
constraint I JYiYP 41|

(d) Define 3NF with example.
3NF3 @l 9% g faa

(e) List any five SQL commands and write
the purpose of each of them.

Rt =B SQL St oiferet e =1
I QST ATORMI 2ATAIEH T =1 |
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()

. What do you mean by key ? What is

the importance of key in RDBMS ? Give

~ example.

Key Wi f& 3@ ¢ RDBMS'® Key 3 939
& ¢ Targdt oty

What is the difference between full and
partial functlonal dependency ? Give
example. :

Full 9% partial functional dependency?
sy & ¢ Tl

Draw an E-R diagram for a ‘College’
database. Use atleast four entities and
their attributes as you want.

TS wﬁmaﬁamwaﬁwmlw
mmﬁmgﬁwmm

W

4. Answer any three of the following
questions : ’ 10x3=30

were famt ﬁmmﬁﬁﬁmwm

(@)

Explain the set operations of relational
algebra with example.

TWRIT (S relational algebrad 7%2f®
AR I 0|

3(Sem-4/CBCS) TCARC/G 5 Contd.

p



(b)

()

(@

Define first, second and third normal
forms. Give examples for each of them.

First, second 9% third normal form¥
e frmt | AiceRE Svieet

Write short note on the following :
SQL, DBMS 5+5=10

were MANAIRT 53 Gt ol ¢
SQL, DBMS

Discuss different join operations of
relational algebra.

Relational algebra 3 Rf$# join operation
QN HTETON 1Y |

Explain the three SQL commands with
example that are used to modify
database.

TIBIy, ~Raw 3L Iage (4 fofior SQL
command WRIR TS I ¥

Define JOIN operation. How is it
different from cartesian product
operation ? Explain with example. What
are the different types of JOIN
operations ?
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JOIN operation-< k&l izl | FIHFRA eoid
operation-¥ (3IC® JOIN operation (I
%2 ? TMIZIIR IS AT 1| JOIN
operation< Rfeq e & & ¢

(g) List and explain the end users of a

database.

(THIA6 WoiR end userd SifeF dge I
i T [ |

(h) Discuss the 3-schema architecture with
diagram. '
5@ te 3-schema architecture RI@
Hicetol | |
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